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GENERAL AWARENESS

SECTION - 2

38. 'Prime Minister's Police Med-

al for Life Saving' is awarded
by-

(1) Ministry of Home Affairs
(2) Intelligence Bureau

(3) Bureau of Police Research
and Development

(4) The Indian Police Founda
tion

39. Which among the following

are called as Shiksha Mitras?

(1) Teachers for primary
school

(2) Teachers for science col-
lege

(3) Teachers for arts college

,4) T-eachers for middle school

40 China’ s Great Wall Motor

o

Company signs MoU with
which Indian state Govern-
ment to invest $ 1 billlion in
the state?

(1) Rajasthan
(2) Punjab

(3) Gujarat

(4) Maharashtra

{ UCSE-196 —



i

SOLVED PAPER-13

SOLVED PAPER-13

41. What do you mean by 'chak-
bandi'?
(1) Consolidation of land
(2) Consolidation of property
(3) Consolidation of family
(4) Consolidation of tax

42. Which chemical is respongi-

ble for the green colour in fire-
work displays? '~
(1) Strontium carbonate
(2) Sodium nitrate
(3) Barium chloride
(4) Copper chloride

43. The salt March led by Mahat-
ma Gandhi against British
was held between which of the
following places India?
(1) Bhavnagar to Dandi
(2) Junagadh to Dandi
(3) Rajkot to Dandi
(4] Ahmedabad to Dandi

44. How many trophies will be pre-
sented to the winner if the ‘Best
Police Training Institu-tions’ of
the CAPFs/CPOs every year? (Ab-
breviations carry their usual

meaning)
(1) 5 2)2
(3) 3 4)4

45. Cultivation of grapes is usu-
ally known as
(1) Sericulture
(2) Aviculture
(3) Moriculture
(4) Viticulture

46. Quit India Movement 1942
was fought in Jharkhand un-
der the leadership of which
leader?
{1) Jaipal Singh
(2) €hoona Ram Mehto
{3) Ramnath soren
(4) Ram Bhagat

47. Match the officials during the
reign of emperor Akbar in List
with their corresponding du-
ties assigned in List.

List II

(i) Incharge
of the
imperial
household

(ii) Head of
judicial
department

(i) Head of the

military

List I
(1) Wazier

(2) Mir Bakshi

(3) Mir Saman

department |

(iv) Head of the
revenue
department

(1) (1)-G), -0, 3)-6v), (@)-
(iii)
@) (1)-(i), @)-Gid), (3)-Gv), (4)-
(i)
(3) (1)-iv), (2)-(idd), (3)-0). (4)-
(i)
(4) (D)-(i), (2)-), (B)-{v), (4
(i)
48. India has chosen the dual

(4) Chief
Qazi

model of GST from which.

country?
(1) UK (2) Canada
(3) USA (4) Japan
49. What is the currency of Arme-
nia called?
(1) Dram (2) Gram
(3) Dollar {4) Rupee

50. Swaminarayan Akshardham
is a Hindu Temple complex
situated in which of the fol-
lowing places of India?

(1) Pune. (2) Bengaluru
(3) Mumbai (4) Delhi

51. Name the neighbouring nation
of India with which India and
Japan signed an agreement to
jointly develop the East Con-
tainer Terminal in May 2019.
(1) China (2) Bangladesh
(3) Maldives (4) Sri Lanka

52. How much time does an aver-
age user spend on social me-
dia day in the globe as per
GlobalWeblIndex Report 20207
(1) 144 Minutes per day
(2) 110 Minutes-per day
(3) 100 Minutes per day
{4) 162 Minutes per day
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53. Which of the following moun-
tain passes is located in the
Uttarakhand State of India?
(1) Kongka pass
(2) Lipulekh pass
(3) Khardung pass
(4) Lanak pass

54, How many members are there
in the National Human Rights
Commission (NHRC)?

(1 2 2)4
(3) 8 49

55, Which among the following
rivers of India derived its name
from the Sanskrit word "La-
vanavari" that means salt riv-
er?

(1) Chambal (2) Banas
(3) Mahi (4) Luni

56. Read the following statements
and choose the CORRECT
option.

(i) The chola dynasty was a

Tamil dynasty that ruled pri-

marily in southern India un-

til the 13th century.

(if) This chola dynasty origi-

nated in the rich ganga river

valley.

(1) (i) is TRUE and (i) is
TRUE

(2) (i) is TRUE and (ii) is
FALSE

(3) (i) is FALSE and (i) is
TRUE

(4) (i) is FALSE and (ii) is
False

57. In the Government of India,
during January 2020, the min-
ister of commerce and Indus-
try is
(1) Smt. Nirmala Sitharaman
(2} Shri Dharmendra Pradhan
(3) Shri Piyush Goyal
(4) ShriPrakash Javadekar

58. Which of the following living
beings have compound eyes?
(1) Dragon ﬂy[2]'Pigeon
(3) Frog (4) Tuna fish

59. Which among the following
countries has built the world's
first floating nuclear plant?
(1) India (2) China
(3) USA (4) Russia
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60. Which of the following term

is related to an unsolicited
email?

(1) Spam (2) News group
(3) Backbone (4) Updates

61, Which of the following state-

ments is TRUE ..?

(1) After 1947, the Judicial
wing of the Board contin-
ued to function at Allaha-
bad, the adminis-trative
wing was shifted to Luc-
know

(2) After 1947, the adminis-
trative wing of the Board
continued to function at
Allahabad, the Judicial
wing was shifted to Luec-
know

(3) After 1947, both the wings,
the Judicial wing and the
administrative wing of the
Board continued to func-
tion at Allahabad

(4) After 1947, both the wings,
the Judicial wing and the
administrative wing of the
Board shifted to Lucknow

62. Which of the following is the

most recent core internation-

al human right treaties that

entered into force during

20107

(1) Committee on the Rights
of persons with Disabili-
ties

(2} Committee on Enforced
Disappearances

(3) Committee on Migrant
Workers

(4) Committed on the Elimi-
nation of Discrimination
against Women

63. Addition of salts facilitates

melting of ice during winter,

as it -

(1) Increases the freezing
point of water on the sur-
face of ice

(2) Lowers the freezing point
of water present deep in-
side ice

(3) Lowers the freezing point
of water on the surface of
ice

(4) Increases the kinetic ener-
gy of the water molecules
which generates heat .

64. Which of the following dates

is observed as an Internation-
al Day of peace?

(1) 55th September

(2) 21st September

(3) 2nd September

(4) 28th September

65. Which of the following launch

vehicles was used in mission
Chandrayaan -2?

(1) GSLV MKl

(2) PSLVC11

(3) GSLVF 11

(4) PSLV C45

86. Grammy Awards are present- |

ed for contribution in which
of the following fields?

(1) Sports (2) Literature
(3] Music (4) Medicine

67. Which of the following corpo-

ration has singed a contract

agreement with Nepal's De-

partment of Railways to sup-
ply twe 1600 HP DEMU train

sets in May 2019?

(1) Rail Vikas Nigam-

(2) Indian Railway Construc-
tion Comipany Limited (IR-
CON})

(3) Konkan Railways Corpo-
ration Ltd ‘

(4) Rail Tel Corporation of
India

68. Which of the following forces

is one of the important agen-

cies of the Government of In-

dia involved in the successful

conduct of the annual Kail-

ash Mansarovar Yatra since

19827

(1) Assam Rifles (AR}

(2) Central Reserve Police
Force (CRPF)

(3) Indo- Tibetan Border Po-
lice Force (ITBP)

(4) Home Guards

69. Where is the Central Institute

for Research on Cotton Tech-
nology located?

(1) Mumbai (2) Nagpur

(3) Delhi (4) Jaipur

UCSE-198

70. Which of the following is the

specialised wing of the CRPF

that was set up to deal with

riost and riot like situations?

(1) Central Industrial Securi-
ty Force (CISF)

(2) Naticnal Security Guard
(NSG) :

(3} Home Guards

(4) Rapid Action Force

71. Which of the following func-

tions initially, in year 1831,
was exercised by 'Board of
Revenue, Uttar Pradesh’ was
removed during 1932-35?

(1) Collection of Rent, Reve-
nue and control over col-
lection staff '

(2) Administration of Reve-
nue laws

(3) Work regarding court of
wards

(4) Settlement operations

72. What is the Chinese currency

called?
(1) Dollar (2) Rupee
(3) Renminbi (4) Pound

73. Who among the following ap-

points the Prime Minister of

India?

(1) President of India

(2) Chief Election Commis-
sioner of India

(3) Comptroller and Auditor
General of India

(4) Chief Justice of India

74. For aq{ministrative Convenie-

nce, how many division are
present in the state of Uttar
Pradesh?

(1) 18~ (2) 22
(3) 28 (4} 14

. “75. What is the size of a 2000 ru-

pee note in Indian currency?
(1) 55mm x 160mm
(2) 60mm x 166mm
(3) 66mm x 166mm

(4) 66mm x 160mm
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NUMERICAL ABILITY

SECTION -3

76. The salary of an employee first

Increases by 50% and there
after decreases by 54%. What
was the overall percentage
change in his salary?

(1) 4% increase

(2) 31% decrease

(3) 31% increase

(4) 4% decrease

77. What is the value of the given

expression?

5 3’#3_3
(1) 3% 2) g

(3)_gio (4) g%

78. Area of a circle with radius 'p'

units is?

(1) np? sq. units
(2) 2 mp sq.units
(3) mp sq. units
(4) Zero

79. A lift can carry only 6 people

with an average weight of 65kg
each. If the average weight of
5 people in the lift is 67.2 kg,
then what can be the maxi-
mum weight of the sixth per-
. son? '
(1) 55kg
(3) 60 kg

(2) 64 kg
(4) 54 kg

80. A spacecraft travels 6.625 km

in 2 hours 20 minutes and
further it travels’ 824 kms in
40 mins. What is the average
speed of the spacecraft?

(1) 2,483 km/hr

(2) 3,154 km/hr

(3) 3,256 km/hr

(4)-4,125 km/hr

81. Which of the following is a

mixed number?
3 5
(1) 2§ 2) )
2 z
® 3 @ 5

.82. For what value of k the sys-
tem of equation 2x+3y=5 and
4x+ky=10 has infinitely many

solutions?

(1)1 23

(3) 6 4)0
83.1f

— denotes multiplication,
x denotes additiomn,
+ denotes division and
= denotes subtraction,
then, what is the value of the
following expression?
40%x12+3-6+60
(1) -44 (2) 7.95
(3) 4 (4) 482.9
84. Which salary increase option
should a person choose for
maximum salary?
(1) 10 % increase in salary
every quarter
(2) 40 % increase in salary
every year
(1) a
(2) b
(3) Both are the same
(4) Depends on the salary
85. The total weight of the silver
coin with 'A’ is 63 grams and
that with 'B' is 77 grams. If
the weight of the silver coins
is an integer and is the same
for all'the coins then what is
the minimum number of coins
with 'A' and 'B' together?
(1) 14 (2) 11
(3) 20
(4) Can't be determined

SECTION - 4
MENTAL ABILITY

86. What is the angle (in degrees)
between the minute hand and
hour hand at 8 PM?

(1) 90 (2) 120
(3) 150 (4) 180
87. Given below is a statement

followed by two assumptions.

Choose the answer as-

A. If only assumption (i) is
implicit in the statement.

B. If only assumption (i) is
implicit in the statement.

C. If both assumptions (i)
and (ii) are implicit in the
statement,

D. If none of the assump-
tions is implicit in the
statement.

88.

89.

90.

91.

SOLVED PAPER-13

Statement :

Chess is a mind game and

needs a lot of thinking to do.

Assumptions:

(i} Viswanathan Anand isthe
best chess player in this
country.

(ii) Anand’s strategies in
chess are unique.

(1} A (2)C

(3) D (4) B

G walks 20 km towards North.

He turns left and walks 40 km.

He again turns left and walks

20 km. Finally he moves 20

km after turning to the left.

How far is he from his start- -

ing position?

(1) 20km (2) 30 km

(3) 50km (4) 60 km

What is the next number in

the series

23,28, 34, 41,49, 7

(1) 52 (2) 54
(3) 58 (4) 61
Which is the next figure in the

series given?

[Note: Choose the right answer
from the answer figures given and
select an option] '
Problem Figures

(e ©)o -

Answer Figures

Qe @

d
(1) b (2)c
(3) a 4)d
Directions: The question con-
sists of a statement, followed
by two arguments numbered I
and II. You have to decide
which of the given arguments
is strong and which argument
is weak. Statement:
Should Bullet Trains be intro-
duced for the public?

s
UCSE-199 |

| EEeEer 2R



— SOLVED PAPER-13
(1) He is likely to divorce his

SOLVED PAPER-13
Arguments:

94. Which one of these meaning-

I. Yes. It reduces the travel
time thereby saving time
and money.

ful words can be made by us-
ing the letters in the word

“MATURITY™"?

wife and marry again.

(2) He will attempt to keep his
father and wife apart.

(3) He will force his wife to

II. No. It should first need a (1) NATURAL respect his father.
good infrastructure built (2) ARMATURE (4) He will abandon his father
~ after which the trains can (3) ATRIUM and move to America.
be introduced. (4) RITUAL 98. Taking up a job that one is
A. Only argument I is strong. interested in can help one in
B. Only argument Il is strong. SECTION - 5 achieving which of the follow-

C. Both arguments I and II
are strong.

D. Neither argument I nor
argument II is strong.

MENTAL APTITUDE

95. When compared to other cit-

ies in country Z, city ‘Sahas’

ing benefits on the job?

(1) If one is earning a huge
salary, interest in the job
is likely to be more.

(2) If one is working in a re-

(1) B 2)C faces serious law and order puted company, one is
[3) A (4)D problems. Which of the follow- bound to be satisfied with
92. The Venn diagram mentioned ing reasons could be contrib- his job.

here gives a report of the num-
ber of students who participat-
ed in a sports event. There were
only four sports conducted in

uting for such a kind of prob-
lem in city ‘Sahas’ ?

(1) Planned growth of the city
(2) Unchecked influx of mi-

(3) If one has the need for a
job, one will be happy to
remain on that job

(4) If the job matches one’s
interest, it is likely to keep

the event. The distribution grants one happy on the job.
shows the number of students (3) Lack of disparity in in- | @@, Under a democratic set up the
who participated in four sports come police are allowed to do all of
A, B, C and D. Based on the (4) Increase in employment the following EXCEPT:
information given in the Venn opportunities (1) Restrict public demonstra-

diagram, answer the question
given below.

96. Digital technology has resulted

in great business opportunities

tions demanding cancella-
tion of certain restrictive

How many students participa- but it has also increased the con- policies.
ted in the sports event? cern for information security. 2) Arrest protesters for dam-
Emerging trends of cyber- crimes aging public property such
; y ‘ ; as public transport.
C include which of the following? BT
(a) Hackin (3) Resort to negotiation and
% g not intimidation with peo-
(b} Snatching ple who are protesting.
. (c) Phishing (4) Prevent any kind of inconve-

atvad

(d) Pickpocketing

nience to emergency servic-
es such as hospitals.

B .- (e) Identity theft ; ; .
(1) a,b,cand d 100. David forged his brother’s sig-
Av — 5 nature on the business docu-
(2) b, can ments and cheated him of a
(3) a,cande huge amount of money. In
(4) c,dand e which -of the following ways
97. Ramnath is a widower. Ram- could David’s brother prevent
D nath’s only son married an himself from being cheated?
American. Ramnath an ortho- (a) Setting up separation of
(1) 150 (2) 140 dox person finds it very diffi- duties and dual controls
(3) 129 (4) 128 cult to accept his daughter - within his own business
93. Select one of the following in-law. He is curt and un- | ! Eme;ﬁlé%g&gﬁdcgr?
four options that will make friendly to her. This disturbs |.- IBHIE : P
. proving all transactions

the second pair analogous to
first pair.

CACTUS : CACSUT :: BUZZ-
ER:?

(1) REZZUB (2) UZZBER
(3) ZUBREZ (4) UZEZBR

his son who deeply loves his
wife. He tries to explain to his
father but his father is ada-
mant. In such a scenario,
Ramnath’s son is likely to re-
act in which of the following
ways?

ey
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(c) Creating a system for
keeping check books se-
cure .

(d} Develop a complex signature
with numerous changes of
handwriting

| St % 5
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(1) aand b
(2) a, b,cand d
(3) cand d
(4 b, cand d

101.Nag wants to become an ac-
tor. Which of the following
traits is important for him to
become a professional“actor?
(1) Nag should be a swift run-

ner ~
(2) Nag must not be afraid of
blood

(3) Nag should be able to con-
vey emotions

(4) Nag should be scientific in
approach

102. Mary got through several rounds

of the hiring process to manage
the quality assurance team ina
leading software company. The
job required international travel
once in three months. She want-
ed to be upfront with her em-
ployer so she informed them that
she was three months pregnant.
The interview panel was very
pleased with her answer but de-
cided against her selection in
spite of her assurances that she
will take a minimum parental
leave, because she was

(1) Pregnant

(2) Inefficient

" (3) Inexperienced

{4) Complicated

103. Everyday on her way to work

Beth sees a group of poor chil-

dren near their slum playing

cricket with sticks and a ten-
nis ball while other children
are at school. Beth is single,

a part time worker, comes from

a well to do family and works

just to keep herself occupied.

What can Beth do to help

these kids?

{1) Go and spend some time

~talking to them.

(2) Buy some bats and balls
and give it to them.

(3) Get her brother to teach
them how to play the game
correctly.

{(4) Spend a few hours during
the week teaching them to
read and write.

104. Preeti whose father is the

chief minister of the state and
Ranjani whose father is arich
farmer are friends. Both Pree-
ti and Ranjani are appearing
for the civil service exam.

Which of the following is |

TRUE to Preeti and Ranjani
regarding the examination fees
collected from them?

{1) Preeti pays more fees than
the fees paid by Ranjani.

(2) Preeti pays less fees than
that paid by Ranjani.

(3) Both Preeti and Ranjani
are exempted from paying
fees.

(4) Both Preeti and Ranjani
pay the same amount of
fee.

105. Akash, Bharath, Chandu and

Damodar are working together.

Akash does not hesitate to say

‘No’ to new commitments if he

knows he cannot complete it.

Bharath accepts all assign-

ments but fails to complete

most of them. Chandu never
accepts new work that requires
learning because he is scared
of change. Damodar is overloa-
ded with work and is always
stressed because he is too

scared to reject the work given |

by his boss. Who among the

four is mentally tough?

(1) Damodar (2) Bharath

{3) Akash (4) Chandu
1086. It has been reported that blind

commuters in metro train of-

ten miss their stops and face

great inconvenience to retrace

their paths. In which of the

following ways can such prob-

lem be resolved by the author-

. ities concerned?
(1) Provide audible ‘next stop’

announcements to facilitate |

blind passengers onboard.

(2) The authorities must im-
mediately prevent blind
passengers from using
trains independently.

(8) Provide audible ‘next stop’
announcements at the sta-
tions for passengers bene-
fit:" e

(4) The authorities must pro-
vide special trains with
escorts to all blind pas-
Sengers.

107.Child custody is the most im-
portant problem faced by the
couple who seek a divorce.
Normally under such circum-
stances the court decides on
the basis of
(1) the father’s position
(2) the mother’s position
(3) the lawyer’s arguments
(4) the best interest of child

108. Rajan’s friend celebrates Di-
wali every year by bursting
crackers. He wishes to advise

" his friend not to do this and
he gives him serveral reasons
for not bursting crackers.

Which one of the following rea-

sons do you think would help

Rajan’s friend to make up his

mind to not continue bursting

loud crackers ?

T o2

(1) kills all the insects that
live among us.

{(2) is you choice to celebrate
any festival how you want.

(3) is an Indian tradition and
we should follow all our
traditions.

(4) can aggravate problems as-
sociated with lung disease.

109. Kate is driving along the road
when she sees that a car is try-
ing to overtake her. She notes
that the driver is busy texting on
his phone and driving strangely.
Which of the following is an ap-
propriate action on the part of
Kate ?

(1) Just mind her own business
and continue driving.

(2) Try and catch up with the
driver, put her window down
and yell at him.

(3) Overtake the distracted
driver, or slow down and
let them overtake her.

(4) Call the police as soon as she
notices the man texting on
his phone and report it.

110.The British rule in India was
based on ‘divide and rule’ policy.

It was the greatest setback to

India’s national integration. All

of the following practices of the

British disturbed the Indian

communal Harmony EXCEFPT:

¢
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(1) They created a difference be-
tween.Hindu and Muslims
on the basis of religion.

(2) They created differences
between rich and poor, ru-
ral and urban, upper.and
lower classes.

(3) They encomaged lmgulst;ic
differences, communalism,
casteism and regionalism.

(4) Resentment against their
policies created among all
Indians a feeling of unity
and harmony.

SECTION -6 : IQ TEST

(1} 1970 (2) 1980
(3) 2000 (4) 2010
116. Which is the odd one out
among the four options?
(1) &300# (2) & 200#
(3) &4004# (4) & TOOH#

117.Which of the answer figures
will complete the figural series

given in the problem figures?
Problem Figures

o o
o) ) 203
o 0 ol
O

Q
Answer Figures

111. If the day before yesterday was
Sunday, then what day will it
be after 100 days from today?
(1) Sunday (2) Tuesday
(3) Thursday (4) Friday

112.If day after tomorrow is Mon-
day, then what day will it be
after 15 days from today?.
(1) Thursday (2) Friday
(3) Saturday (4)Sunday

113. Which is the odd one out
among the four options?

(1) A#M (2) L#P

(3) U#Y (4) #KJ
114.What comes in the place of

question mark in the given

series?

ATS, CUT, EVU, ?

(1) KWV (2) HVW
(3) Gwv (4) FHG

115. Instruction: The below table
gives the population of two
cities A and B in different time

periods. From the information

given, answer the question giv-

en below.
Population |Population
Year | of city of city

A (In 1000's) |B (In 1000's)

1970 45 59
1980 B0 | i 63
1990 54 67
2000 62 2 Hgn
2010 70, 82

The ratio of population of city
A to population of city B is
greatest for which of the fol-
lowing year?

"O'O O 6]
] “INE <o |

5 |50 b |

s B C D
(1) A @) B

48).C 4)D

118. A child who was facing east
direction turmed 400 degrees
in the anti-clockwise direction
and then 220 degrees in the
clockwise direction. Which
direction is he facing now?
(1) East (2) West
(3) North (4) South

119. While calculating the average
of 20 distinct two-digit num-
bers, Tina copied one of the
numbers in reverse order, due
to which the average obtained
was smaller than the actual
average by 3.6. What is the
difference in the digits of the
number?

(1) 36 (2) 8
(3) 4 (4) 16

120.In a certain code, if ORDI-
NARY is coded as ROIDANYR,
then what will be the code for
PERFECTION?

(1) QFSGFDUJPO
(2) EPFRCEITNO
(3) QFSGUDOPJ
(4) EPFRECNTO

121. Which of the following options. | .

will make the second pair anal-
ogous to the first pair given as
Sleep : Insomnia :: Memory :? |
(1) Haemophilia

(2) Alzheimer's

(3) Diabetes

(4) Ischemia

122. Arrange the words given below
in the heirarchy of the posi-
tions that they have in an or-

ganization. .
1., Assistant Manager
2. Manager

3. Deputy General Manager
4. Chief Executive Manager
5... Chief Executive Officer
(1) 12435 (2)23145
(3) 13245 (4)21354

' 123.1In a certain code, if GATE is

coded as ETAG, then what will
be the code for ROAD?
. (1) DAOR  (2) DARO
(3) DORA  (4) DORO
124.What comhés in théplace of
question mark in the given

series? _
NOM, QRP, TUS, ?

- (1) HTU 2y wxv
(3) WAX (4) wWvx

125.3 times a number added to
four times 50% of the same
numer is 200 more than the

number.

Which is the number?
(12 (2) 50
(3) 100" "(4) 150

126. A dog runs 20 m towards south
direction. it takes a left tum
and runs for 10m. Again it
turns right and starts runing.
Which direction is the dog fac-
ing now ?

(1) East

(2) West

(3) South-West
. (4) South

127. If sam means Ben, Ben means
Jam and Jam means Ren,
then what does Ben mean ?
(1) Sam (2) Jam
(2) Ren - - (4) Ben

128. Arrange of the geometrial fig-
ures given below in the as-
cending order of the number
of sides that they have and
select an option.

(a) Straight line

(b) Pentagon
(c) Square
(d) Octagon
(e) Decagon
(1) abecde
(3) acbhde

2)cbdea
[4cabde
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129. Heena is the daughter of the

134. Ruby knows that her father's

brother of Ravi's father mahesh. age is more than 55 years but
Vikram is Heena’s brother How less than 57 years. Ruby's
is vikram related to mahesh's mother remembers that her
mother ? husband’s age is more than 57
(1) son (2) Brother years but less than 60 years.
(3) Nephew (4} Grandson Rohan, who is Ruby’s elder
130. Which of the answer figures brother knows that his fa-
will complete the figural series ther's age is more than 58
given in the problem figures? years but less than 64 years.
Problem Figures If only Ruby’s mother and
brother know it right, then
what is the age of Ruby’s fa-
| 0 ther in years?
' ' ] (1) 59 (2) 58
- (3) 57 (4) 55
Atiswe 138. Dolly is taller than Chandra
¥ figures andyFarah. Anand is shorter
' than Farah, Chandra is taller
than Anand. Dolly is shorter
” ﬁ H % ll ﬂ “ than Bharat. Who among
them is 3rd tallest if Chan-
' dra’s height is 6 cm more than
A B c D Farah’s height?
(1) A 2)B . (1) Farah {2) Anand
(8 C 4D (3) Chandra (4) Dolly
136. Among the given group of 4
SECTION-7 imageg, whi%lh setgl(;f i.glages
REASONING ABILITY can be classified as a group?
131. Which of the given option will '
NOT share the same property —\_—_| Zj Q 4%
as the elements of the given _
i Ly o2 3 4
E?;/’;l’ % 97;9;; (1) (1,2,3 @(1L2, 4
(3) 37 (4) 39 31,84 42384

182.Two trains running in the
same direction cross a man
standing on the platform in 15
seconds and 25 seeonds re-
spectively and they cross each
other in 18 seconds. The ratio

of their speeds is
(1) 31:2 (2)43:3
(3) 34:3 4)7:3

133. Select one of the following
four options that will make
the second pair analogous to
the first pair.

Library : Books :: School :?
(1) Newspapers

(2) Students

(3) Buildings

(4) Laboratory

137. Virat scored 150 runs includ-
ing 11 sixes and 5 boundaries.
What percent of the total
score did he make by hitting

sixes?
(1) 62% (2) 50%
(3) 44% (4) 39%

138, P is the father of K. J is the
niece of X. R is the mother of
J. K is the brother of X. P has
only two children. Which of
these statements is TRUE?
(1) X is the sister -in-law of R
(2) X is the brother of K
(3) P is the father of X
(4) X is the uncle of J

139. Identify the figure that com-
pletes the visual series.

{ UcSE-203 )
UCSE-203

Problem Figures

Answer Figures

v!| [*4Al L4
1 2 3 4
(11 2)2
3) 3 4) 4

140, Sachin’s age 5 years ago was

1
2 of his age 10 years hence.

What is the present age of

Sachin?
(1) 36years (2) 25years
(3) 20years (4) 15years

141, A paper sheet is in the form of
a shape given below. It is cut
along the given dotted lines in
the sequence as mentioned.
How many edges would the
resultant paper sheet have,
after the cuts?

(1) 12 (2) 13
(3) 14 (4) 16
142, Three out of the four options

are similar based on the posi-
tions of alphabet. Find the odd

one out.
(1) TUF (2) YZA
(3) WVJ (4) OPK

143. Identify the figure that com-
pletes the visual series.

Problem Figures

S KA

L )
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Answer Figures

3.

A

A B @ D
(1) A @B
B C @D
144. Identify the figure that com-

pletes the visual series.

Problem Figures &l

Answer Figures

pIENR R

145.

1486.

147.

(1) 1 (2) 2
(3) 3 (4) 4
Rohit, Rohan and Rani are

three friends standing in a
queue to pay their fees in the
administrative office. Rohit
. tands 9th from the beginning
of the queue. Rani is 14th
form the end. Rohan and Rani
have 4 students between them
and Rohan and Rohit have 5
students between them. If
Rani is in 20th position from
the beginning, then Rohan’s
position from the end of the
queue is
(1) 24th (2) 19th
(3) 18th | (4) 9th
Which number replaces the
question mark (?) in the se-
ries given below?
2,1,0,-3,-24,7
(1) - (2) -267
(3) -270 - (4)-273
A figure is given on the left
with a pattern. Observe and
find which of the three imag-
es on the right looks similar
to the right half of this pat-
tern?

{

A S

TJ .

§

148.

149.

1 2 3

(1)1 (2)2

3 3 (4) Both2 and 3
Which of these pair of figures
CANNOT join together to form
a parallelogram?

(1) Two trapeziums

(2) Two parallelograms

(3) Two triangies

(4) Two circles

A dice is taken. N umbers from
1 to 6 are written on its fac-
es. The faces with numbers 1]
and 4 are adjacent to each
other. Number 6 is on the face
opposite to the face with num-
ber 3. Number 2 is not on the
face opposite to face with
number 4. Which of these

. numbers would be opposite to

150.

number 2?7

(11 (2) 4

(3) 5 (4) 3 )
Select one of the following
four options that will make
the second pair analogous to
the first pair.

PARROT : GREEN :: CROW : ?
(1) YELLOW (2) RED

(3) BLACK  (4) WHITE

For Latest books of

KIRAN INSTITUTE OF
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Visit :
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ANSWERS

1.@| 2.Mf 3.1 4. @)
5.4 6.4| 7.0 8. (2)
o @] 10.3] 11.@| 12.@
13.2)| 14.3)| 15.(3) | 16.(3
17.3)| 18 (M| 19.(2) | 20.@
21.3) | 22. @ 23.(1) | 24.3
25. @2 | 26. 1| 27.(1).| 28.(1)
29.(3)| 30.3) | . 31.@ | 32.(4
33.3)] 34.@ | 35.49) | 36.2
37.@| 38. (1] 39.() | 40: (@
41.(1)] 42.(3)| 43.@ | 44.13
45.(4) ] 46.(2)| 47.(3)| 48.(12)
49, (1)| 50. @ | 51.@ | 52.Q1)
53.(2)| 54.2)| 55.4) | B6. (1)
57.(3)] 58.(1)| 59.14) | 60.(1)
61.(1)| 62.2) | 63.3) | 64.(2
65.(1)| 66.3)| 67.3)| 68.(3)
69. 1| 70.@ | 71.3) | 72.
73. )| 74. )| 75.@) | 76.2
77.3)| 78. (1] 79.@) | 80.(1)
81. (1) 82.3) | 83.3) | 84
85.(3)| 86.(2)| 87.(3)| 88.(1)
89.(3)| %0. ()| 91.(2) | 92.@
93.3)| 94.(3)| 95.(2) | -96.(3)
97.(9 | 98. | 99.(1) | 100. @)
101. (3) [102. ) | 103. @) | 104. (3)
105. (3) [106. (1) | 107. (4) | 108. (4)
109. () |110. (4) | 111.(3) | 112. (&)
113. (@) [114. 3) | 115. (4) | 116. @)
117. (3)|118. (2) | 119. (2) | 120. (2)
121.(2) [122. (1) | 128. (1) | 124. (9)
125. (2) [126. (4) | 127. (1) | 128. (3)
129. (4) [130. (3) | 131. (4) | 132. (1)
132. (2) [134. (1) | 135. (3) | 136. (1)
137. (3) [138. (3) | 139. (3) | 140. (3)
141. (2) [142. (3) | 143. (3) | 144. 2)
145. (2) [146. (2) | 147: (2) | 148. (@)
149, (1) |150. (3)

EXPLANATIONS ===
1. (4) WG9 =88 & STIEN, Ak

F favg § IR S e TR
fagmi o s Haut e
YgHY 9g Wl €l

(1) SHF Ty F SFER TH
fedt ot wa # ‘gars’ w®@ o
w1 WAl ¥ @rE T e
(3) wETdelt ot wigardt i 3w
U AN & Y % worEEy
o TS S At Qe &
T '
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4.

10.

11.

12.

13.

(2) ‘FEF TEN H TG ST
THARS TF 7 i off, Fafs Tamg
T A o GH RIS B
ot -

oo # XU U o oA W £
(4) VT AN & STEE, TEE
wat w5 g B o
o1

(4) ‘wuer’ & wy fawms ‘W
+3TRR’ T TR " e
i 21

Tl e
T+ IFF -2 TG
A+ TF - AfEE

(1) ‘=t vt w7 gam ®W,
Tl

(2) & 7@ 9= | fem wm &t
i 2 Sfaa v g o R e
T - O A
pe

(2) ‘wpit 7E iR’ 3w fiEes
g faa @ ST €

Tgen T gH W Y A 6
‘T e w oA, ‘Hee,
‘FeoER, THega w1, RN
‘afr’ el

(3) ‘SFT-aM AT HEEl 1 WEl
arf ‘g9 R

AR FAT:- S T ST wa A
qUH e W SS9 mk-fid &
fee am-=m @ T

[4] ‘ﬁ%ﬁ’, "q:ﬂ'sﬁ” ‘ﬁﬂ" e ‘E‘E’ 7

& wiEErE §1 T & ST e
Y=~ Hifes, WEE, 9659, W9,
i, T, g e

(2) ‘wEiy’, ey, 9w’ TT=
‘o o vEiEar §1 9E % o
TR -9, YER, TR,
wafy, EE AR

(2) ‘v w1 wfas’ FE R
FEHER ‘HEd Thw' ¥ CHEA
&Y TE wEr AR & OEIE
FRAER 21 T g Tod e Faa
T-Tug w1 Th T, ad-anp,
wEl o U9 (), Haad, 7
M e FE, R 9% FW
(So=m), FeEd g (A
_qﬁmﬂ

14.

15.

16.

17.

i8.

19.

20.

21.

22,

23.

24.

(3) ‘auema’ w1 wi-frRes a9y
+3ea’ g

ageEE (F + 3 = %) A 4wy
2

(9) feu T e H W IS A

i

‘gz T T A Y S w |
(3) v & 6@ =1 w4 W
Tl §, 9% ‘FH HHE' FEAM €
o favfm foed ‘HY R
(3). 7§ 2014 =1 =@ FHA "HHA
FeRTiR Tieme!’ i SRl T AR

F1 FwElTA & HTA-FHALIR

g’ & fag fen =

(1) ‘Fr’ w1 faeim W= ' 21
‘g w6 fae feaHe” wen g’
=1 faem ‘T e

(2) ‘wife STRRHI GEPR’ MR
TR gW e 9 oA @
oifefeas w9 M 8, S O
e it el ST | e
99 wrE TF TSR SR ST
ar wifed e 24 W | ¥EH
i i 21 39 TERR W URH
1955 % § gam o4 1962 ®
&R % faawor 7@ faa T o
(4) feu T fopedt # § ‘i’ dgvE
g B1 Aie @ wem e
‘' &1 q5AT ‘ST qUl ‘HilwaA’
& gWd ®9 ‘HEE e

(3) feu U = § fwm = w
i ¥Y I v e Em
ool a - e fee e ?

(2) ‘faeft wer w1' eI B fAQ

s e T T’ #1

(1) 2019 =1 == A fe=t &t
wiag wifes ‘=i ymi’ Ft 3766
ST ‘AT & T o T
™ Fs 2016 ¥ 3= ‘wiE’
ST & fou ‘oifeer SRRt
R ¥ i TR
(3) fa T ToEEEEEE W A §
‘wh-Ten’ WEl T B ‘T @
LeGEccEa Mkl

25.

26.

27.

28.

29.

30.

31.

(2) ‘gedre aErE’ fest & @
Ffa, EEE I FAFE ¢ T
1996 % ® Tl SEET TEw
‘g T o T ‘2E v et
o’ ¥ et fem T

(1) ‘eraedi’ fet &= T T Sy
21 FEa 99 B 9 B F HRO
W ‘FiEe & TH Y S S €,
THE o AW awErd)’ o faer
21 T gl g dwa
THEIEHA qT ST e
F W et 21

(1) =1 ¥ T8 B 9wl & 'H
Fed 8l

i =1 favfa foet ‘A7 E
TSR FW &1 999 9 I (HH
wed 2

w1 &1 favife faet ‘=1 R
Fea 81w = faufa foe ‘9
, BRI' B

(1) fou o faedt ® ¥ ‘Swoa’
TR T B ‘ThgT’ I g w9
‘Twa’ g ‘Had’ w aH w9
‘wrE’ gl

(3) ‘8 =i & EE T .
o B 9 UH St AR ¢ 3
HTFA F THRE 1981 H g1,
S efera Wieed ¥ UF Fersdl Hid
o gH B

(3) ‘w=’ W= w1 faem ‘ge
gl

ferm’ wifte —mfe, S -
s fopeq g W8 €

(4) W& FHEM 39 TER &-

(1) faa off & w= &t =98 - (1)
A AR " w9 IR

(2) 97 1 3@ H faemr - (2)
et wadfie @ 2

(3) 7= 7 WM W @ - (3)
I H Q9 @
(4) 7 = 3@ § 2E- (4)
qAl HEF g9 S el
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32.

33.

35.

36.

37.

38.

39.

(4) wReg T vgE wfoE o
IR eiees, T A T,
a9 ARE A, TR <,
aifta <9 S 3N S SHET
e wfFa &

(3) Tdve, ek, sy v
F wEEaET B

‘T & e wEieErh -3,
frqee, anfEen, wam, TR, 9
anf
%2)%?%?@'%@’[‘1&'@@3%&@

¥ TfER H gEr W el
(4) v fowedt § @ ‘A’
adE Sl # 22 wwe W
Tforgd @ aet e e 2
(2) ‘Tg ¥ fin e ameEnw o
IR HE I § ¢ WA h
g w9 ¥ TF 9% F IE0 W
@ B URN ST 9% AEH
FNE' HEAM B

(4) ‘wetETm’ TR ‘Egly &1
e T afew o
atEEr #)

‘SR’ % e TR E-Ue,
TFE AR

(1) The Prime Minister's Police
Medal for Life Saving is award-
ed by the Union Ministry of
Home Affairs. It was institut-
ed in 1958 to encourage po-
licemen of allranks to bring
help and succour to the afflict-
ed. It is awarded topolice per-
sonnel within the territory of
India who have doneoutstand-
ing work in saving life. The
recipients arepresented Med-
als in the All India Police Duty
Meet.

(1) Shiksha Mitras are con-
tractual teachers who provide
education in primary schools.
The objective of recruiting
Shiksha Mitras was to main-
tain teacher and student ra-
tio in primary schools by hir-
ing para teachers at a lesser
monthly salary. They are also
known as para teachers of as-
sistant teachers. They help in
the universalization of ele-
mentary education.

40.

41.

42,

43.

44,

(4) Chinese auto major Great
Wall Motor (GWM) in June
2020 signed a memorancum of
understanding with the Maha-
rashtra government for its
manufacturing facility in the
state which it had acquired
from General Motors
(GM).The company will invest
31 billion (about Rs 7,600
crore) in India in a phased
manner with estimated em-
ployment for over 3,000 peo-
ple. .

(1) Land consolidation is
known as 'chakbandi’ in
Northern India. It involves re-
adjustment and rearrange-
ment of fragmented land par-
cels to form larger and more
rational land holdings. Land
consolidation is aimed to im-
prove rural infrastructure and
to improve environmental sus-
tainability and agriculture.
(3) The colors in fireworks are
created by the use of metal
salts. The presence of barium
chloride produces green fire-
works. Other metal salts com-
monly used in firework dis-
plays include: strontium car-
bonate (red fireworks), calci-
um chloride (orange fire-
works), sodium nitrate (yellow
fireworks), and copper chloride
(blue fireworks).

(4) The Salt March, also
known as the Dandi March,
was an act of non-violent civ-
il disobedience in colonial In-
dia led by Gandhi to produce
galt from the seawater in the
coastal village of Dandi in
Gujarat. The 24-day march
began from Sabarmati Ashram
in Ahmedabad on 12 March
1930 and ended with Gandhi
breaking salt laws at Dandi
(called Navsari at that time)
on 6 April 1930.

(8) Every year, the Union Min-

" istry of Home Affairs awards

six Trophies in all for the best
police Training institutions in
the country, three for the
CAPFs/CPOs training institu-
tions and three for the State/
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45.

46.

a7.

48.

UTs Police Training Institu-
tions. For CAPFs/CPOs, there
are three categories for thetro-
phy viz.

"Best Training Institute for the
training of Gazetted Officers,
"Best Training Institute for the
training of Non-Gazetted Of-
ficers and ¥

"Best Training Institute for the
training of Other Ranks (Con-
stables).

(4) Viticulture (from the Lat-
in word for vine) refers to the
cultivation and harvesting of
grapes. It is a branch of the
science of horticulture. It is
practice of cultivating grape-
vines, usually with the over-
all goal of producing fruit that
is suitable for some specific
end purpose.

{2) The Quit India Movement
in Jharkhand was led by
Choona Ram Mahto and
Govinda Mahto. A member of
the then Manbhum Congress,
Choona Ram participated in
the Quit India Movement.
With 'Bande Mataram' in high
tone of voice and holding the
Tricolor in his arms, he led
villagers against the British
Raj. However, he was shot
dead by Police Officer Bhag-
wan Sahay.

(3) The correct match is as
follows:

"Wazir: Head of the revenue
department; he looked after
revenue and finance

"Mir Bakshi: Head of the mil-
itary department; he played
role in recruitment of soldiers,
listing of mansabdars and -
important officials; ]
"Mir Saman; He was head of
the Department in charge of
royal households (Karkha-
nas);

"Chief Qazi: Head of Judicial
Department

{(2) India has chosen the Ca-

. nadian model of dual GST as

it has a federal structure
where the Centre and states
have the powers to levy and

Il
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49.

50.

51.

52.

53.

collect taxes.In India, GST is
divided under a Central
Goods and Services Tax and a
State Coods and Services Tax
that are levied on the taxable
value of every transaction of
supply of goods and services.
Unlike India, Canada gives
options to provinces to go for
state or central GST.

{1} The dram is the monetary

unit of Armenia. The word
"dram" translates into En-
glish as "money" and is cog-
nate with the Greek drachma
and the Arabic dirham, as well
as the English weight unit

dram. It was historically sub- |

divided into 100 luma.

{4) Swaminarayan Akshar-
dham is a Hindu temple, and
spiritual-cultural campus that
is located in New Delhi. The
temple was officially opened
on 6 November 2005 by Pra-
mukh Swami Mahara. It is
similar to its predecessor Swa-
minarayan Akshardham in
Gandhinagar, Gujarat:

{4) SriLanka on 29 May 2019
signed a deal with India and
Japan to develop a deep-sea
container terminal in the
country. The three countries
will jointly build the East
Container Terminal at the Port
of Colombo. The involvement
of India and Japan is the
project is being seen as a big
development aimed at neu-
tralizing the growing influence
of China,

(1) According to the Global
Web Index report 2020, the
average time spent on social
media per day in 2020 is 2
hours 24 minutes globally for
users aged 16 to 64 on any
device, The total of 144 min-
utes is a 1.4% increase from
142minutes in 2019, and up
38% in the past 5 years.

{2} Lipulekh is a Himalayan
pass on the border between
India's Uttarakhand state and
the Tibet region of China, near
their trijunction with Nepal.
Nepal has ongoing claims to
the southern side of the pass,
called Kalapani territory,

56.

B7.

which is controlled by India.

This pass is used by pilgrims

to Kailas and Manasarovar.
{2] The NHRC consists of the

Chairman and four members-

(excluding the ex-officio mem-
bers).

"A Chairperson, who has been:
a Chief Justice of India or a
Judge of the Supreme Court.

"One member who is, or has
been, a Judge of the Supreme
Ceurt of India , or, One mem-
ber who is, or has been, the
Chieif Justice of a High Court.
*Three Members, out of which
at least one shall be a woman
to he appointed from amongst
persons having knowledge of,
or practical experience in,
matters relating to human
rights.

. {4) Luni, the largest river in

the Thar desert, is also known
as the Lavanavari or Lavana-
vati, which means "salt river”
in Sanskrit, due high salinity
of its water. It originates in the
Pushkar valley of the Aravalli
Range, near Ajmer, passes
through the southeastern por-
tion of the Thar Desert, and
ends in the marshy lands of
Rann of Kutch in Gujarat.
{1} The Chola dynasty was a
Tamil dynasty that ruled pri-
marily in southern India un-
til the 13th century CE. The
dynasty originated in the fer-
tile valley of the Kaveri River.
The heartland of the Cholas
was the fertile valley of the
Kaveri River, but they ruled a
significantly larger area at the
height of their power from the
later half of the 9th century
till the beginning of the 13th
century.

(8) Piyush Goyal is the Min-
ister of Railways and Minis-
ter of Commerce & Industry in
the Government of India. He
is a Member of the Upper
House of the Parliament of
India (Rajya Sabha), and the
Deputy Leader of Rajya Sab-
ha. He was earlier the Minis-
ter of Railways and Coal (2017
- 19).

58.

59,

60.

G1.

62.

(1) Compound eyes are eyes
that are composed of up to
thousands of much smaller
lenses, allowing them to have
avery large view angle in com-
parison to simple eyes. Such
eyes are found in found in ar-
thropods such as insects and.
crustaceans. Dragonflies (and
bees) have the largest com-
pound eyes of any insect.
Each of their compound eyes
contain up to 30,000 facets.
{4) The world's first floating
nuclear power plant is cur-
renily being built at the Bak
tiysky Zavod shipyard in Saint
Petersburg, Russia. This site,
known as Akademik Lomonos-
ov, is the property of the Rucs-
sian nuclear operator Roseit:
ergoatom. It contains two
ELT-40C naval propulsion re-
actors with a 35 MWe capaci-
ty each. ‘
{1) Unsolicited bulk email
messages are commonly called
junk mail or spam. It involves
nearly identical messages sent
to numerous recipients by
email. Definitions of spam
usually include the aspects
that email is unsolicited and
sent in bulk. The opposite of
"spam”, email which one
wants, is called "ham", usu-
ally when referring to a mes-
sage's automated analysis.
(1) The Board of Revenue of
Uttar Pradesh was established
at Allahabad in the year of
1831. After India's Independe-
nce in 1947-48, the adminis-
trative and judicial functions
of the Board were separated.
While the Judicial wing of the
Board continued to function
at Allahabad, the adminis-tra-
tive wing was shifted to Luc-
know. This arrangement is
continuing since then.

{2) The International Conven-
tion for the Protection of All
Persons from Enforced Disap-
pearance (ICPPED) is a Core
International Human Rights
instrument that entered into
force on 23 December 2010. It
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63.

65.

66.

is an international human
rights instrument of the Unit-
ed Nations and intended to
prevent forced disappearance
defined in international law,
crimes against humanity. The

_text was adopted by the Unit-

ed Nations General Assembly
on 20 December 2006.

(8) The reason that the appli-
cation of salt causes ice to
melt is that a solution of wa-
ter and dissolved salt has a
lower freezing point than pure
water. When added to ice, salt
first dissolves in the film of
liquid water that is always
present on the surface, there-
by lowering its freezing point
below the ices temperature.
Ice in contact with salty wa-
ter therefore melts, creating
more liquid water, which dis-
solves more salt, thereby
causing more ice to melt, and
so on. The higher the concen-
tration of dissolved salt, the
lower its overall freezing point.

(2) The International Day of
Peace, sometimes officially
known as World Peace Day, is
a United Nations-sanctioned
holiday that is observed an-
nually on 21 September. To
inaugurate the day, the Unit-
ed Nations Peace Bell is rung
at UN Headquarters (in New
York City). The day was first
celebrated in 1981.

(1) Chandrayaan-2  was
launched on board the GSLV
MK III M1 launch vehicle on
22 July 2019. The spacecraft
was launched on its mission
to the Moon from the second
launch pad at the Satish Dha-
wan Space Centre in Andhra
Pradesh on 22 July 2019.

(3) The Grammy Award (styl-
ized as GRAMMY, originally
called Gramophone Award), or
just Grammy, is an award pre-
sented by the Recording Acad-
emy to recognize achievements
in the music industry. It is
considered one of the four
major annual American en-
tertainment awards, along
with the Academy Awards
(film), the Emmy Awards (tele-

vision), and the Tony Awards.

67.

68.

69.

70.

71.

(3) Konkan Railways Corpo-
ration Ltd on 10 May 2019
signed a coniract agreement
with Nepal's Department of
Railways to supply two 1600
HP DEMU train sets. These
trains will be used to opera-
tionalise railway link between
Jayanagar in India and
Kurtha in Nepal.

(3) The Indo-Tibetan Border
Police Force is one of the im-
portant agencies of the Gov-
ernment of India that is in-
volved in the successful con-
duct of the Annual Kailash
Mansarovar Yatra since 1982.
It carries out this responsibil-
ity along with the Ministry of
External Affairs, Ministry of
Home Affairs, the Kumaon
Mandal Vikas Nigam and the
Government of Uttarakhand.
(1) The Central Institute for
Research on Cotton Techno-
logy (CIRCOT) is located in
Mumbai, Maharashtra. It is
one of, the premier constitu-
ent institutes of the Indian
Council of Agricultural Re-
search {ICAR), under the De-

partment of Agricultural Re- |

search and Education
(DARE), Ministry of Agricul-
ture, Government of India. It
was established in 1924.

(4) The Rapid Action Force
(RAF) is a specialised wing of
the Ceniral Reserve Police
Force of India to deal with riot
and crowd control situa-
tions.RAF was raised on 11
December 1991 with headq-
uarters in New Delhi. It be-
came fully operational on 7
October 1992, to deal with ri-
ots, riot like situations, crowd
control, rescue and relief op-
erations, and related unrest.

(3) When established in 1831,

‘the main function of the

Board of Revenue were as fol-
lows : -

"Collection of Rent, Revenue
and control over collection
staff.

"Administration of Revenue
laws.

"Administration of tax laws
relating to stamps, Excise,

72.

73.

74.

75.

opium and Income tax.
"Work regarding Court of
wards.

"Judicial work regarding Rev-
enue laws.
"Explanation:Settlement op-
erations.

In 1934, the court of wards
work was taken from the
Board. i

(3) The renminbi is the offi-
cial currency of China and one

“of the world's reserve curren-

cies. The yuan is the basic
unit of the renminbi. The ren-
minbi is issued by the People’s
Bank of China, the monetary
authority of China. It is some-
times referred to as the "red-
back," a play on "green-back”,
the casual term for the US
dollar.

(1) Article 75 says that India
shall have a Prime Minister
whose appointment shall be
made by the President. The
Prime Minister is the leader
of the majority party in Lok
Sabha. He is also the leader
of the Council of Minis-
ters.The President is the only
nominal ruler while the real
executive powers are envisaged
in the Prime Minister.

(1) The state of Uttar Pradesh
comprises 18 administrative
divisions. Within these 18 di-

visions, there are a total of 75

districts. Some of the divisions
are: Agra, Aligarh, Allahabad,
Azamgarh, Bareilly, Basti,
Chitrakoot, Devipatan, Faiz-
abad, Gorakhpur, Jhansi,
Kanpur,Lucknow, Meerut,
Mirzapur, Moradabad, Saha-
ranpur, and Varanasi

(3) The new Rs. 2000 bank-
note is a 66 mm x 166 mm
Magenta coloured note. Its
obverse side features a portrait
of Mahatma Gandhi, the
Ashoka Pillar Emblem, and
the signature of Reserve Bank
of India Governor.It was re-
leased by the Reserve Bank of
India (RBI) on 8 November
2016 after the demonetisation
of Rs. 500 and Rs. 1000 bank-

notes.
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76. (2) Overall percentage charge

50 x 54
= — B4 — 0
(50 - 54 100 )%
=(-4-27)%
=-31%

=31% decrease

77. (3) {3y2/3° il

[
X
[ RC]

- (33)§X

3x; 1—x1><-L 1

=32°35 3'10‘
78. (1) Radius = P unit
Area of circle =nP? Sq. unit
79. (4) Maximum weight of sixth
person
=65x6-67.2x5
=390-336.0
=54 kg
80. (1) Total distance = 6625 + 824
= 7449 km.
Total time = 2 hours 20 min-

utes + 40 minutes = 3 hours
Average speed

_ Total distance

~ Total time

7449
=5 =2483km/hr

3
81. (1) 2§ is a mixed fraction

82, (3)2x+3y=5
4x+ ky=10
For infinitely many solution.

2k
=>k=3x2=6

83. (3)
e p X ] X | e
40 x 12 +3 -6+ 60
Inter changing the sign, we get
40+ 12+3%x6-60

1
=40+12%x 7 x6-60

3
=40+ 24 - 60
=64-60
=4

84. (*) 10% increase in salary ev-

ery quarter

Incease in salary in 1 year

= 110% of 110% of 110% of
110% of 100 ~ 100

= 100x 756 % 100

110 110

100~ 100
=146.41-100=Rs. 46.41
40% increase in salary every
year
Increase in salary in 1 year
-. Option ( 1) should be cho-
sen

. BYHCF of 63 & 77 =7

63 77
No. of Coins =—+—

7 7
=9+11=20

. (2)

360°
60

Each minute space =

=g°

At 8 PM, the minute and hour
hands are 20 minute space
apart. Therefore, required an-
gle =6 x 20 = 120°

. (3) Obviously, neither assum-

ption I nor assumption II is
implicit is the statement.
Therefore, the correct answer
is D which is given in the op-
tion (3).

88. (1)
G 40 km

B0 lon 7

.

20km E Starting

point

North

West+—— East

8 &
v South
AE =20 km

(UCSE-209 |
UCSE-209

89. (3)23+5=28
28+6=34
34+7=41
41 +8=49

49+ 9=

90. (1) In each subsequent figure,:
one smaller circle moves in-
side the large circle.
Therefore, the correct answer
is figure b, which is given in
the option (1).

91. (2) Obviously, both the argu-
ments are strong. Bullet train

~ is a faster means of transpor-
tation. But, it requires specif-
ic rail tracks. Therefore, the
correct answer is C, which is
given in the option (2).

92. (2) Number of students partic-
ipated in the sports event
=40+9+4+8+20+1+30+
6+7+5+10 =140

93. (3)
CXC T>I[<S
C A G S U “F
Simﬂarly,

X K

By 8 R |

94. [3) There is no ‘L’ letter in the
given word. Therefore, the
words NATURAL and RITUAL
cannot be formed.

There is no ‘N’ letter in the
given word. Therefore the ward
NATURAL cannot be formed.

There is no ‘E’ letter in the
given word. Therefore, the
word ARMATURE cannot be
formed.

T Y ATRIM
95. (2) Planned growth of city;
lack of disparity in income
and increase in empleyment
opportunities cannot be rea-
sons for law and order prob-
lems. Obviously, unche-cked
influx of migrants may be rea-
son for law and order Problems

in city ‘Sahas.’
96. (3) Obviously, Hacking, Phi-
shing and Indentity theft are
associated with cyber- crimes.
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97 (*} Ramnath's son is likely to

© " attempt to keep his father and

wife apart so that a healthy

£ relation ' can be maintained.

However, this siep is not ap-
propriate practically.

NOTE : Considering answer

5 options erroneous, UPPRFB

°  has discarded this question.

_98. [*) Obviously, option (4] is the

3 most appropriate answer. If
the job is according to one’s
interest, he/she remains hap-

S py and satisfied.

NOTE : UPPRPB is not con-
sidering this question for eval-
uation.

89. {1} Obviously, police are not
allowed to restrict public dem-
onstrations demanding can-
cellation of cartain restrictive
policies.

100. (4) Obviosuly, the ways men-
tioned in (b), (¢} and (d} may

«.+ prevent David’s brother from

being cheated.

101. (3) In order to become a pro-
fessional actor, Nag should be
able to convey emotions.

1102. (9 Mary got through several

rounds of the hiring process,
therefore, she was not ineffi-

2} cient. Mary informed the em-

ployer about her pregnancy,
therefore, she cannot be con-
sidered as complicated. The
interview panel decided
against her selection because
she was pregnant and the job
reguired international travel
once in three months.

NOTE : UPPRPB is not con-
sidering this question for eval-

* uation.

103. (4]} Obviously, the most appro-

', priate action is to spend a few
hours during the week teach-
ing the poor children to read
and write.

104. (3) Obviously, both Preeti and

“  Reanjani will not pay any fee for
the examination. In order to
ensure greater participation of
female candidates, female con-
clidates are exempted from fee.

1085. (3) Obviously, Akash is men-

tally tough. He knows his ca-
pability and has self confi-
dence.

[

s ety —ly

106. (1) Obviously, this problem can
be solved by providing audible

‘next stop’ announcements. It

will facilitate blind passengers
onboard.

107. (4} Usually under such cirum-
stances, the court decides on
the basic of the best iritereqts
of child.

108. (4) Obviously, option (4} is the
most convineing reason which
would help Rajan’s friend to
make up his mind not to con-
tinue bursting loud crackers.
Crackers cause noise pollution
and air pollution.

109. (*) Obviously, option (4) is an
appropriate action on the part
of Kate. Careless driving is
dangerous to other vehicles
and the rash driver himself.
NOTE : UPPRPE is not con-
sidering this question for eval-
uation.

110. {4) Obviously, option (4} did not
disturb the Indian communal
harmony.

111.({3) Day before yesterday was
Sunday.

Yesterday was Monday.
Today is Tuesday.

100 days = 14 weeks 2 odd days
Therefore, the day after 160
days = Tuesday + 2 = Thurs-
day.

112. (4) Day after tomorrow is Mon-
day.

Tomorrow is Sunday.

Today is Saturday.

15 days = 2 weeks 1 odd day
Therefore, the day after 15
days = Saturday + 1 = Sunday

113. (4) Except '#EKJ’, in all other
clusters, the symbol is between
the two letters.

114.(3)
+2 +2 +2 —
A——p (C—p E——=>G
+1
podli R gL iy

+1 +1

115. (4) The ratio of population of
city A to population of city B
A

=g

In 1970 = =2 = 0. 76
> 59

% !
UCSE-210

¢

In 1980 = 222 0.79
o 63
In 2000 = 22 - 0.82
& =
] 2010 Gikng e
1l 82"

116..(4) In option (4), there is a let-
ter * T in the place of a digit.
117.({3) In the subsequent figures,
one design is added outside
the main design and inside the
main design alternately.
118.{2) Net rotation of child
= (400 - 220) Degree :
= 180 Degree anticlockwise

@
__‘: Ial

12

v

Now, he is facing west.

119. (2) After writing the digits of
one number in reverse order
the average of 20 distinct two
- digit numbers was smaller
than actual average by 3.6."
Therefore, the difference be-
tween the two numbers
=3.6%x20=72
Now

(10x+ y)-(10y+x) =
= 10x+y-10y—x=72

=9x-8y=72
=9(x-y)=72
72,
=>x-vy=§=8
120. (2)
SRS X
R 01 - pxi.  N¥ R
Therefore,
P><ER g _e%F IO><N
E PR&RC-EI1 TN O

121. (2) The lack of first is called
~ the second. Insomnia is a
sleeping disorder known for its
symptoms of unrest and the
inablity to sleep. Similarly,
Alzheimer's disease is a dis-
order involving loss by memo-

Iy.

il elrn T ¢ )
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122. (1) Arrangement of words as
per heirarchy of the positions:
1. Assistant Manager

|

2. Manager

|

4. Senior Manager - :

Vo

3. Deputy General Manager

|

5. Chief Executive Officer

123.(1)
GATE = ETAG
Reverse order of letters.
Therefore,
ROAD = DAOR

124.(2)

43 3

N ro—2 > -2 Ny
3

o pn B op il s

125. (2) Suppose the number is x.
According to the question

3x+§x4=x+200

= 3x+ 2x=x+ 200
= bx-x=200
= 4x=200

200
R L
o= T4

126. (4)

10m

Now, the Dog is facing south.
127. (1) Ben means Jam, i.e, Jam

is called Ben.

Sam means Ben, i.e, Ben is

called Sam. :

128. (3) Ascending order of the
number of sides:
1. Straight line (One line)

|

3. Square (Four sides)

|

2. Pentagon (Five sides)

}

4, Octagon (Eight sides)

|

5. Decagon (Ten sides)

129. (4) Heena is daughter of
brother of Mahesh.

Vikram is brother of Heena.
Therefore, Vikram is grandson
of Mahesh’s mother.

130. (3) In each subsequent figure,
one line segment is added
touching top to bottom hori-

. zontal lines.

131.(4) 67, 71, 59, 97, 89, 47, 43
and 37 are Prime Numbers. 39
is not a Prime Number.
39=3x13

132. (4) Suppose the speed of the
first train = x
Speed of the second train =y
According to the question
D, =15x
D, =25y

15x +25y _
x+y

18

= 15x+ 25y =18 (x+1)
= 15x+ 25y = 18x+ 18y
= 15x-18x=-25y+ 18y
=-3x=-7Ty

133. (2) The second is found in the
first. A library is a building in

which collections of books,

newspapers and magazines are
kept for people to read, study
or borrow. Similarly, a school
is a place where students go
to study.

134. (1) According to Ruby’s moth-
er, the age of Ruby’s father
= 58 or 59 years
According to Ruby’s brother,
the age of Ruby’s father
=59, 60, 61, 62 or 63 years
Common age = 59 years

135. (3) Dolly > Chandra, Farah >
Anand
Bharat > Dolly
Bharat > Dolly > Chandra >
Farah > Anand
Clearly, Chandra is the third
tallest.

136. (1) Obviously, figures 1, 2 and
3 can be classified into a
group. Figures 1, 2 and 3 are
plane geometrical figures.

137. (3) Virat scored 150 runs.

He made 11 x 6 = 66 runs hit-

ting sixes.

Required percentage
66

= —x100 = 9
150 £

138.(3) P is father of K and X.
J is daughter of R
dJ is niece of K and X.
The gender of X is not known.
X is brother or sister of K.
X is paternal aunt or uncle of J.
R is wife of K.
139. (3) In each subsequent figure,

the shaded triangle moves one
step in the clockwise direction.

140. (3) Suppose the present age of
Sachin = xyears
According to the question
2(x-5)=x+ 10
= 2x-10=x+10
= 2x-x=10+10
= x=20years

(e
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141. (2) After the cuts, the given
shape would have one more
edge than that of the original
shape. One edge is increased

at cut 1.
2 6
13_5] 7
4
1 8
;IG'
13 1l e 10

12

142. (3) Except the letter group
‘WVJ’, in all other letter
groups the second and third
letters form pairs of opposite
letters.

r—l »ye——>F
y—*L gy e——»a

O——t}—qu—--—&K

But,

=1 -12
W e R At

143. (3) In each subsequent figure,
one arrow is deleted in clockwise
direction. .

144.(2) In the subsequent figures,
the design rotates through 180°
and 90° clockwise alternately.

145. (2) Rani is 14th from the end of
the queue.

Rani is 20th from the beginning
of the queue. _

Total number of friends in the
queue = 14 +20~1=33

9th - 15th 20th
o g v
BBt
14th

Rohan’s position from the end
of the queue.
=33-15+1
=34-15=19th
146. (2)
2x2-3=1
1x3-3=0

O0x5-3=-3
3xT7-3=-24

24 x 11- 3= [-267 |

147.(2) Figure 2 looks similar to
the right half of the given pat-
tern.

148, (4) Two circles cannot form a
parallelogram. .

149. (1) Number 6 is on the face
opposite to the face with num-
ber 3.

Numbers 1 and 2 are on the
faces adjacent to the number
4, Therefore, the number 5 is
on the face opposite to the
face with number 4.

Now, the number 1 is on the
face opposite to the face with
number 2.

150. (3) The second indicates the.

colour of the first. The colour

of parrot is green. Similarly,

the colour of crow is black.
003d
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